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03142510 © | ani, 01 yung a3 huwin 65/ 3300 214500
03221450 Yuwnwdp, siwppwo Q3 Ug 400 850 340000
03211300 Pphué Yinp Q3 Ua 530 170 90100
03211300 PPhGA/ Bphwn thiwdh Q3 g , 550 300 165000
03221113 Lnph ’ ' a3 Ua 1000 150 150000
15112160 Fwyh thu, Ynspwihu Q3 Ua 2300 340 782000
15111120 Swywnh dhu, thwhnty Q3 Ua 4700 625 2937500
03220000 Rund thpa Q3 Ua 550| 1200 660000
03221100 PwanLy Yunpuhn Q3 Ua 400 250| 100000
03221110 Quiquip Q3 g 400 250 100000
03221111 Unfu, gintfu a3 Ug 350 250 87500
15311100 Lwpuindhy a3 Ua 330| 1800 594000
15331167 Luwlwsh, fuwrep Q3 Yuiw 250 250 62500
15331183 Nuyy a’ e 550 230 126500
15831710 3wy Q3 Ua 1500 60 90000
15332290 Ly Q3 ua 1290 100 129000
15333100 Sndwuwnh dwénty Q3 Uag 1100 50 55000
15331154 Nnr, wipnnowywb/mtnhu Q3 Ua 450 250 112500
15421100 Uplwéwnyh abp. Q3 (hup 750 300 225000
15512000 Ppywubp - a3 Ua 1400 150 210000
15530000 Ywnwg, ubpnigpwhl Q3 Ua 3000/ , 400 1200000




15541300 Nwlhp [neh Q3 Ua 2300 100 230000
15511600 runwignws Yuwpe Q3 g 1200 100 120000
15511100 Ywpp, Wwunbpwgyws Q3 lhup 600] 1250 750000
15551600 Uwénil | Q3 lhuinp 600| 1250 750000
15542100 Ywplwynr nWuwywh Q3 Ya 2500 100 250000
15616000 3anjwawyuin Q3 Ug 500 250 125000
15623200 Uwhunwywwawywp Qa3 Ua =500 150 75000
15617000 8npGlwdwywn Q3 Ya 450 120 ~ 54000
15612180 j,ﬂr? AT pEEY A Ua 320 290 80000
15618000 RinnLp a3 ba 500 50 25000
15619000 Swiwpwdwywn Q3 el 600 120 72000
15613350 Jwpuwlywadwywn o Ua 550 50 27500
15851100 Uwlwnnh Q3 Ug 450 400 180000
15811100 Juwg, dwunbwpw) Q3 Ua 450 3000 1350000
15863200 3t Q3 Ua 3000 10 30000
15872400 Un, Ypwyph, dwln Q3 Vel 180 150 27000
15831000 Cwpwnpwywq uyhwnwy Q3 yg 450 430 193500
15321000 3jnLetn Q3 lhuinp 500 400 200000
15811130 PnLyh Q3 Ug 500 150 75000
15821500 Jdwidih Q3 Ug - 1200 220 264000
15821500 Lwngn plujwdépwplhplbn Q3 Ua . 1200 220 264000
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15842810 " |ipspusBEilomign, a3 Ua 1300] 220 286000
15841400 Lwlwnh thnoh Q3 La 4000 4 16000
15872600 LEpwynh unnw a3 hwun 250 10 2500
03221124 Jdwnniug Q3 Ug 400 50 20000
15331139° Lnihy Q3 Ug 400 50 20000
15331168 UdpnLy Q3 Ug 300 50 15000
03221122 Andhy Q3 Ug 300 50 15000
15871256 Mnwtn Q3 Ug 400 50 20000
03221420 Swnyuwlwnuidp Q3 Ya 400 80 32000
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39221270 uLluLhwnhmu nn Q3 i 2500 5 e
39221270 S&ﬁf::::b MBI LRG| gy hutn 2000 5 i
39224331 Mwuwndwub nnwj Qs hwun 1500 3 4500
39221312 Ywpuw UNdhg/20] Q3 hwn 20000 2 40000
39221312 Ywpuw Ubkpdhg/10( Q3 huwin 13000 3 39000
39221170 uwguwidwl Q3 hwin | 700 10 7000
39221370 stipbth/thiwdh Q3 hwn 1500 2 3000
g | D D e ihtnp 500 30 15000
39831240 ‘] Uwhuwwltglnn henny Q3 lhup 200 100 20000
39831240 Nwupw ; Q3 huwin 300 30 9000
24211150 Lnnuiy Q3 wnith 150 10 1500
18141100 Qtinlng wuwnwlpwihl Q3 hwn 400 b 2000
33761100 Oniqupwbh pninp, rntnbr - 93 hwun 200 350 70000
39221410 Uyt Gtin ; Q3 hwn 1500 12 18000
39221500 Yuwpuwthhs Q3 hwin 250 45 11250




39831282 Ywhntjp dwppb|nt |Wp Q3 hwwn 150 230 34500
39831283 Jwunwyh (ywgiwl (wp Q3 hwn 1200 5 6000
33141118 Woabrenghyutn Q3 wnnth 300 350 105000
39831245 O&wnr, htnnty Q3 hwwn 550 10 5500
39811300 3niwiqtinéhs, onh Q3 hwin 900 20 18000
39221490 Uwnibg, wiwb (ubwint Q3 hwuwn 350 85 29750
39241120 Unngt thnpp nuuwy Q3 hwtn 250 10 2500
18421130 Qtinlng pGWGL Q3 qnug 350 20 -~ 7000
39831243 Ldwgph thnzh wywnniwwn Q3 Snith 700 40 28000
39831210 Wdwh (wgnn henniy a3 hwn 1100 80 88000
44521120 Anwl thwywl/pnuwyny Q3 Lwn 12000 2 24000
39221130 Pwdwy phjh Q3 Lwwn 500 40 20000
39221260 Uthut 6wph Q3 Zwn 500 40 20000
39221260 Uthut Lwpuwswph Q3 wn 500 40 20000
42991400 etnhy/yunnhs Lwjgbn-nuwyatn Q3 {wwn 10000 1 10000
q
(39713410 nnb::ﬂjj ARERITLAT a3 dwwn 00 6 36000
44811500 Qnuilibnly /6 wkn Q3 Zwn 1000 40 40000
24911200 EdnLuhw Q3 Zwn 500 10 5000
31631100 Qpuunwhinwyh dwguhu Q3 Snith 600 10 6000
37821130 Qnibwynp dwwnhwn a3 Snith 700 40 28000
37821170 Mwuwnhphl Q3 Snith 600 40 24000
37821150 Yuyh6 gntuwynp Q3 Snith 400 10 4000
39263200 Gpuubiywlwht ghpp Q3 hwin 1200 10 12000
Q.
. d&ﬁi@&w&l il Q3 Zwn 2500 10
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18231100 qatuwnttn /sEnyhyatp uu hwn 12000 2 24000
18231100 qabuwnbtip /&nunhyltip uu hwun 13000 2 26000
qabunGtp/uwhnwyuwadnt uu hwwn 12000
18231100 ohy 1 12000
18231100 qgtuwnbtp/egnLyutn uu hwwn 10000 7 70000
18231100 qabuwnbtp/tnllh uu hwn 12000 1 12000
30192740 Qnibwynp powp/Epyynnd | 93 wnntth 700 60 42000
30192121 Qnhy Q3 Zun . 80 40 3200
30192710 g;:ﬁf,ﬁim g o 05 o 18000
44111419 Qnuwy 10 gnyl Q3 | Smuth 1100 40 44000
44423600 Yuentl dwwuykl/ukod/ Q3 Zwn 500 4 2000




44521230 Udpwl /ulpbylju/ Q3 Snith 200 6 1200
30192133 Unhy ' Q3 Zun 200 40 8000
30192125 Uwplbp gpumwhunwlh Q3 * {8 2unn 250 20 5000
22851100 Upwqulwnp a3 Zwuwn 150 20 3000
30197230 (Fnpuwwuwl dwyny Q3 PATIRT)! 500 10 5000
Bnpwwwlwy, Ynyin
30197234 qugntﬂnuth:ﬁn/z 5% 2 i = 11000
39241210 Ulpwn Q3 Jwn 300 40 ~12000
37821100 Jdpahtu Qa3 wnntth 400 30 12000
30197231 duy| Q3 Zuwn 10 300 3000
30197112 Ywnhs Q3 Lwn 1200 4 4800
30197322 Ywnhsh wukin Q3 nnLh 150 4 600
33141118 tunbwy wldtrnghyutn Q3 wnLth 5 600 3000
22991190 Jwwndwu Q3 hwun 250 5 1250
18441100 funhwpwpwywl glhuwny Q3 {wn 40 50 2000
32341110 Pwpanwhunu Uuu {wun 15000 1 15000
32231700 rwghwbbp Uuu {wn 10000 3 30000
39711350 Uuwnwg Q3 {wn 100000 1 100000
39121500 = |[Mwhwpuwl /thnpn uu {wwn 30000 1 30000
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